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Section A (5 x 1 mark)

Questions 1 to 5 carry 1 mark each.

For each question, four options are given.

One of them is the correct answer.

Make your choice (1, 2, 3 or 4) and write it in the brackets provided.

1.

Set A Set B
Set A has fewer faces than Set B.
(1) 17
(2) 10
8] 3

(4) 7 ()



O O

What are the shapes found in the given figure ?

(1) . square, rectangle, triangle
(2) square, rectangle, circle
(3) circle, triangle, rectangle

(4) circle, friangle, square | ( )

I
l%‘} paintbrush

|
—8————8 g—j'——ﬁ matchsticks

-

The paintbrush is as long as matchsticks.
(1) -1
(2) 2
(3) 5
(4) 7 ( )



-3

Use € as 1 unit.

/O\
Z3X
The mass of the pineapple is units.
(1) 6
(20 2
3 3
(4 7 (

Which pair of shapes looks the same ?

A
(1} AandE
(2) BandD
(3) CandD
(4) BandE

AROJO




Section B

Questions 6 to 10 carry 1 mark each.
Fill in the blanks..

6. 3 more than 8is

There are squares in the figure.

key

&
[t

=

=

o

The key is | ( ) longer than the pin.




Look at the diagram below and answer Questions 9 and 10.

Watermelon

Banana

£ s 1 unit.

9. The is the heaviest fruit.

10. The banana s units heavier than the grapes.




Section C

Read the story sums carefully and solve them.
Write down the number sentences and answers.
( Question 11 carries 2 marks. Question 12 carries 3 marks )

iy | <l | | e | | i

String Ais 9 @Iong.

Sting Bis 11 () long.
What is the total length of String A and String B ?

O

The totallength of String A and String B is .




12. A book weighs 24 units.

A pencil case weighs 8 units lighter than the book.

What is the mass of the pencil case ?

o _

The mass of the pencil case is units.

End of paper
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9)Watermelon 10)2

11)9 + 11 = 20
The total length of String A and String B is 20

12)24-8=16
The mass of the pencil case is 16 units.
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